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Instructions for Candidates

l. Write your Roll No. on the top immediately on receipt of this question paper'

2. Attempt all five questions.

3. All questions carry equal marks-

4. Answers may be written either in English or Hindi: but the same medium should

be used throughout the PaPer.
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(a) Define Human resource manag€ment. Describe the operative functions of
Human Resource Management. (8)

(b) Write an explanatory note on Voluntary Retirement Scheme (VRS). (7)
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(a) Discuss the significance of employment test and describe three types of
employment test commonly used in Industry. (g)

(b) Differentiate between Job description and Job specification. what steps are
involved in the preparation ofjob analysis I (7)

:OR

(c) Explain workload analysis and workforce analysis. (g)

(d) What are the benefits of formal induction programme ? How will you make
induction effective 2 e)
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(c) Human resource policies serve as a guidelines to Human resource
decisions in an organisation. what are the test of sound Human Resource

(8)policy ?

(d) How does diversity benefit organisation ? Explain. (7)
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(a) Outline the steps involved in conducting a training programme in a systematic

way. (8)

(b) Write an explanatory note on Management Development. (7)

OR

(c) Discuss the significance of training to the employees. Why is On the job
training preferred over Off the job training ? (8)

(d) Explain the role of Sensitivity Training in executive development. Describe

its merits and demerits. (7)
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(a) What do you understand by 360' appraisal technique ? Explain its advantages

and limitations. (8)

(b) Differentiate between Transfer and Promotion. Explain various types of
employee transfers. (7)

OR

(c) What is meant by employee counseling ? State the process of employee
counseling. (8)
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(d) Critically examine the MBO approach to performance appraisal. (7)
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(a) Explain the concept of employee compensation. Distinguish between the Base

compensation and supplementary compensation. (8)

(b) What is job evaluation ? Explain its objectives. (7)

OR

(c) Explain in brief any four provisions under the Factories Act, 1948 for the

Safety ofworkers. (8)

(d) Explain the concept and importance of employee grievance. (7)
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